1365 + 1853 =

Round 1267 to the nearest
thousand =

54 +10=
___=1000+400+30+2
543 x 8 =

653 -100

Find 20% of 450 =

Write 89 in Roman Numerals

§x7= §x9=

2.45x6 = 553x6=

7433 + 1753 = 0826 + 12653 =

Round 3624 to the nearest Round 75670 to the nearest
thousand = thousand =

54 +100 = 54 + 1000 =
____=3000+1400+50+7 ~___=4000+3200+60+8
734 x 8 = 973 x 8 =

1533 -310= 3753 -1340=

Find 25% of 450 = Find 26% of 450 =

Write 236 in Roman Numerals Write 359 in Roman Numerals



2x4=2=12
5 5 8
1.45x6=28.7
1365 + 1853 = 3218

Round 1267 to the nearest
thousand = 1000

54 +10=54

1432 = 1000 + 400 + 30 + 2
543 x 8 = 4344

653 — 100 =553

Find 20% of 450 = 90

Write 89 in Roman Numerals
= LXXXIX

Zx7===22
5 5 5
2.45x 6 =14.7

7433 +1753 =9186

Round 3624 to the nearest
thousand = 4000

54 + 100 =0.54

4457 = 3000 + 1400 + 50 + 7
734 x 8 =5872

1533 -310=1223

Find 25% of 450 =112.5

Write 236 in Roman Numerals

= CCXXXVI

Zx9=—=32

5 5 5
5.53 x 6 = 33.18

9826 + 12653 = 22479

Round 75670 to the nearest
thousand = 76000

54 + 1000 = 0.054

7268 = 4000 + 3200+ 60 + 8
973 x 8 =7784

3753 -1340 = 2413

Find 26% of 450 = 117

Write 359 in Roman Numerals

= CCCLIX



